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QUESTION 1

Given: 

Which is true? 

A. System.out is the standard output stream. The stream is open only when System.out is called. 

B. System.in cannot reassign the other stream. 

C. System.out is an instance of java.io.OutputStream by default. 

D. System.in is the standard input stream. The stream is already open. 

Correct Answer: D 

Reference: https://www.geeksforgeeks.org/java-lang-system-class-java/ 

 

QUESTION 2

Which three initialization statements are correct? (Choose three.) 

A. int[][][] e = {{1,1,1},{2,2,2}}; 

B. short sh = (short)\\'A\\'; 

C. float x = 1f; 

D. byte b = 10; char c = b; 

E. String contact# = "(+2) (999) (232)"; 

F. int x = 12_34; 

G. boolean false = (4 != 4); 

Correct Answer: BCF 

Reference: https://www.hudatutorials.com/java/basics/java-arrays/java-short-array 
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QUESTION 3

Given the code fragment: 

What is the result? 

A. 01 

B. 0 

C. 1 

D. The program prints nothing. 

E. It prints 1 in the infinite loop. 

Correct Answer: D 

 

QUESTION 4

There is a copyServiceAPI that has the org.copyservice. spi. Copy interface To use this service in a module, which
module- info.java would be correct? 

A. Option A 
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B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

 

QUESTION 5

Given: 

What is the output of this class? 

A. The compilation fails. 

B. [0). D, | 1). i, | 2). a] 

C. [). o, | 1). a, | 2).] 

D. [0). o, | 1). i, | 2). r] 

E. ArrayIndexOutOfBounds Exception is thrown at runtime. 

Correct Answer: A 
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